stress test

D (—a?)? x (2b)3 = —4a*b?

5

@ (-3y)? x (—xy)? = =323y

® (-
o ()= (5) =7

® a? x (-

ry)? x 2xy = 20%y?

20)? x a® = 4a°b?

2. oF I"eA AAZ
% ABCD o] Hol= A
2P, QR SAH

o] g} &t} o] A} @ P Q

& olgstol ekl

o
371 31 [e)
EX

o)

o
AR

rlF

ar -
=

il

MO D

2t B c

@ (a+0b)?=a?+2ab+b?
@ (a—0b)?=a?—2ab+V?
® (a+b)(a—b)=a®—b?

@ (z+a)(z+b) =22+ (a+b)x+ab

® (ax +b)(cx +d) = acx® + (ad + be)x + bd

3. o Okl g5 A M=k (3-1)(3+1)(3° +
DBt +1) =3 -

5.

6.

7.

T2 1ol A At R o o -2--__ 2y,
HolE o, y of gk Aoz /
st 7] Ehd 229 !
31
\ 7 =

@ (22 +2y)(3z + y) = 622 + Bzy + 2y

@ (22 —2y)(3x +y) = 622 — 4oy — 29>

® (27 +2y)(3x — y) = 622 + 4oy — 2y

@ 3z +2y)(2z — y) = 622 + 2y — 2y

® (3z —2y)(2z + y) = 622 — zy — 2y*

57+ = 57 x| | ellA | | ©] gh2?

@ 25 @5 ® 625

@ 125 ® 75

(322 —9xy) + 31 — (6zy — 8y?) + (—2y) & AlAISHH?

® 4z -1y @ 4x+T1y ® 2z -7y

@ 22+ Ty ® 2z —vy

2y —2[x+3y —3{2y+2(z+y} =TI IS
H, z o] A2l y o] A2 o427

®© -7 @-3 ©®O0 @ 6 ® 1




1
8 —3 b= 5 % (200)? x (~1205") + 3%
e
® 3 @ -3 @6 @ -6 O 12
9. o hgAolA r — 3y Clofol T A& FEa}
i AEY 22 — 7y 7F HSAek. o] uf, vpEA Aitet
=7
D —8z — 13y @ 2z — 10y
® 6z — 10y @ 10z — 13y
® 10z + 4y
10. b5 & &2 A& 25 1217
2\ 3
© (yi) x (z2)? = ay'?
x
@ 1225 = (=3zy?) x (—y*)? = 4a*y*
4 2\ 2
O Zxr= (L) =y
Yy Y
b 3
@ (a) x (ab®)? x a? = ab’
)< (3) -
® (2 \3) = 6
11. & 540 ARL ), a+b+c © g Fetele
22 4 3 B by©z12
xa - 12

12. ohe 412 7] shojet.
2a — [a — {30 — (5a — b)} + b

13. [ | qrell Sojz 7bg 2kt 412
T4y —{2r— By—-0O+vy)+y}

14. B4 FAL 0183t (z 4 3)(x + a) B HAT o]
a? +br — 12 o[t} oJwf 4= a, b 9] g FStefet

® 922 - 120 +4

® 422 -5:+6

15. th5 o] AAgH BE o] yol=9
2w~ 3
AT
L )
@ 622+5x—6 @ 422 +12249

@ 622 —5x+6




16. 42 +3y =2 < W, 5(z —3y) — 24z —3y) & z I
B 402 vehfoler,

17. (—322%y)%+ I:] x(2zy?)% = —1225y% & wj, I:]?l’

of Fgre 429

O —622y? @ —62%y* ® 6x%y?
@ 622y* ® 1222y

18' 2z—1
(3)  =2r 2 ool g Fopoleh

19. 24— [2b—{a — (a + 3b) + 2b}] — a & ZFEHS] SFH?

® 2a+3b @ 3a—3b ® 2a—3b

@ a—3b ® 5a—b

20. 5r—y+6)—( )= —2z+y—2°A ()t g2

29

O —7x—2y—8 @ —Tx—2y+8

® Tx+4 @ Tox—2y+8

® Tx+8

21. (z+3y+2)(x — 3y — 2) & F7/HSHH?

D 22 - 3yz — 6y% — 22
@ 2% —3yz — 9y — 22
® 2?2 —6yz — 3y? — 2?2
@ z? - 6yz — 9y? — 22

® 22 - 9yz — 9y — 22

1 _
23. 2" = A, 3" =BY 0, 47x27n+6n% A, Bof st

B3 B* B2

© - @ - ® —
B* B?
® — ® —

24. T 04 A, B o tiste] A« B =A-2B 2 39
A A =22 —4x 42, B =22+ 3z —5 o H5t4
(Ax B)* B & 7tds] olH?

@ —3z%2 —16x —22 @ —3z2% — 162 + 22

® 222 — 14z + 21 @ 222 — 15z + 22

® 322 + 142 + 22




25. AR (21, 1), (22, y2) ol HHSFA (21, y1) x
(22, Y2) = T1@2 + T1Y2 + Y172 + Y1y = AO] TTh

ol uf, (2z, y) x (—y, 3z)S Frcks] opA?

4
1

@ 76$2+2l’y7y2 @ 76I2+I’y+3y2
® 222 —xy —y? @ 622 + xy — y°

@ 622 —,’L‘y—|—3y2




